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This question paper consists of 2 pages with printing on both sides.

Answer all questions in the exam booklet provided.

More marks are awarded for problem solving method used to solving problems than for
the final numerical answer.

Box your final answers.
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6. Attempt any 4 questions, two from each section
7. Each question attracts 15 points.




r ini1tk=ctrino
i a2 miew Deaaiao

V. of ransver

s e mace
=eae il ians T
7 . =
i X.y.Z2
mitarm
- emedca N e can »

] 1 ~ 0o 1 o 1. 3 = Mic Eind ite arnoloralinms
Aalamn v S S - — = B =y 1 i =17 1< 23 2 1
CTITT from 38 km'hr 1o 82 knvhr in 20s. Find 1is acceleration.
naMYAa 13 - 3 i =

=n disnlacemant and valarine
. 2 =il A2Ia8 VIO

rown varmica v nnvea—3c with 2 velac: of 74 Sm/s

vOIULQUy Upwargs wiinn 2 velocitv o1 Z=om's
: P>
naing?

: . B
Iing CTraoYsST maidt ~
1 O0 A CIICKCTT 02Alt 1S throw

¥ - -
ICNISTA TS 1A
SIVAELe e 11Ime

s +al - 1 b ] ) N |
il 1225 1 220k tha hicghecos
taxes 10 reacn Siv Lol LiTDL LUl

und?
——— .

©
{

% ~ 1
cht A the o
gni Imom e or

um 1o the ground

. Afior 4 Ne ta
m rest. Aner 4.0s, 11s angu

11\ 1t I:v\gﬂ— wralAaniTrs 2t ar
) | Od?} QIlcI

- v11]a- -1
) IS angular acceleration 1) 1S linear vel
7 I Al
Ji+8 4k

o
o
c
5-
O
B
(o'
tm

SECTION B

+(a) State and with mathematical illustration the
(b) A man stands on a scale in an elevator. If th
stationary, what will it read when the elevator is

second and thir

o Jo AN I
@ scale reads 430 N »

5(a) State the law of conservation of energy.
(b) A tall man walks under a mango tree, a ripe fruit drops on his head from a height of 15m. if

the speed of the fruit on hitting his is 12 ms™, determine how tall the man is.

6(a) Explain the following with suitable diagrams (i) Rolling Friction (ii) Fluid Friction.
(b) A 120 kg body moving at a speed of 20 ms™' collides with a body that is half its weight
and which is moving at twice its speed along same direction. Afier collision, the 120 kg
body continues in the same direction with a speed of 25 ms™ while the smaller body moves
in in opposite direction. Find the final velocity of the smaller body.
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